1. Write the augmented matrix of the system of linear equations, bring
it to the reduced row-echelon form, and find all solutions of the system

I + 2234224 =7
2:171 + xo + 5.’133 + 5:134 =19
T + 2x3 + 3x4 = 10.

Solution. We have
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r3 T4

L1 T2 T3 T4
1 0 2 2 | 7 L 02 2|7
— {0 1 1 1 | 5
2 1 5 5 | 19 000 1 3
L1 0 2 3 | 10
'1020|1]
— {0 1. 1 0 | 27,
_0001|3J

which is the reduced row-echelon form of the augmented matrix of the
system. There is one free variable z3, so the solutions are x3 = ¢, x4 = 1,
x9 =2 —1t, x1 =1 —2t, where t can be any number.

Answer. The solutions are x1 = 1 —2t, 20 = 2 —t, 3 = t, x4 = 3,
where t can be any number. In vector form:

I —2 1
xI9 . —1 2
| 0 1| T ol
T4 0 3

where ¢ can be any number.



